1. BRI TN (FH6F12H )

xtbAE | XtRs xS AEH &8 (M)
12H4H B |NRREE FHE- SO (FH) 5,000
12H6H =8 |VYAHIRESEEEEZOH(ZE) 6,000
12H6H BEH | AEHROHFERAET) 60,000
12H6H FSHPTAE2TEIERT IV R —EFEASHEICH D Bim 2,200
1286H gﬁﬂ‘\'/u%?u?u@éﬁzlim:—%%Fﬁ%ﬂ YATEFRASHEICHD | 5 500
12B13H TOft | RIBRASB=OH (KEM) 2,916
128138 BR  |RETRER FTE-SHIROH(ER) 22,000
12H25H B |NRREE FHE - SHIADH(FH) 5,000
12A208 | Zoft | REBEZRBLEZRZEFAEmEONEFER) 72,000
a &t 177,316




2. % FH(PH6FK)

bRy | H(ERY) | REHER | 2EERD) | RE#
= = 1 27 6,000| 189,720
- i 1 10 60,000 131,500
B & 3 23 32,000 246,250
8 & W 0 0 0 0
B & 0 1 0 5,000
> i 2 15 4,400 136,400
T D 2 33 74,916 308,896
a 5 9 109 177,316 | 1,017,766




